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Applying
Knowledge

Warm Up Grade 8

Wednesday, Nov. 28, 2018
Similar to test question

1) Jack and Ted have competing paving companies. The school wants to hire the
one of the companies to pave a path to school. They have two choices;

r;e_d travels along route 1 but charges{$20 per meter '
‘ ﬂk travels along_route 2 buic_haggg&per meter . o
i [+ N Route 2
{a) How much does Ted charge? Route 1
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c) Who has the better deal for the school?

Tk has & beter Prce.
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Warm Up Grade 8

1) Jack and Ted have competing paving companies. The school wants to hire the
one of the companies to pave a path to school. They have two choices;

schooal

Ted travels along route 1 but charges $20 per meter Route 2
Jack travels along route 2 but charges $22 per meter ~ 30m
start

Route 1
150 m

a) How much does Ted charge?

20m+150m =170 m

x $20 Ted charges $3400
$3400

b) How much will Jack Charge? (Requires more work than part a)

Need to find route 2 ... THE Hypotenuse
2= g2 + b2
c®= (150 m)? + (20 m)?
c?=22 500 m? + 400 m?
c®=22 900 m?
c=422900 m?

c=151.3m
Jack Charges
151.3 x $22 = $3328.60 $3328.60

c) Who has the better deal for the school?

Jack is the better deal. He charges $71.40 cheaper.
$3400 - $3328.60 = $71.40



gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook

@4,,
%
rl

p N
o

The ladder reaches up 4m

\

=gt Mo~

o]
'O

TS

52- 2+3°

Vo =&

T

e
H —c

November 28, 2018

9 z— "-Hoz’

516 =

%} (60

514~ loo= e+ 1007/

2

4l =
L < e
2% = o

by 2 ahswers are possible becanse
\E doesn & Sou ¥ 24 1s one
,{cﬂ e )d){, égpa‘l‘;&h\l\ffr.



gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 28, 2018

G~) 6~\ (,7-:'—(7.7-"'67—
3 2 2
]%. (f;,_ q};
. =5 - e
s 62-__.6_7-4.5'1
LS50
- ¢
A = bl
> =10/
LOUN ¢ =179
om
62'-'— o.\" %‘L .
(,13 2 ')’00
o= 25 ¥ 3660
cro 42 AS
A+ =\as
C bS5



gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 28, 2018

7
iyt




gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 28, 2018

i

7 12 4b
1 = ov
“ ¢ P T
Ozz/,;zq -Fl?ﬁ
Bome - }f= I%fe?
om 2 =4
ety IR LY
@3
025 63+bL 2
0 wo 10 = o4O

B566—1b80 = 0‘2{' }1bod-1bos
1300 = oo

Ry
s14= o
The khﬁék s 81 em e

4 To geL Crom -+ B, you
Move "‘g‘fb 4 and wpS3.

To (g.gl-, Crom B & F, you
move duwn 3 and left 4, 54 F
1S Yhe same dislone $ru. #

< Bis.




gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 28, 2018

\b . c =5.%

o~ 3 sl
Shte " Sbshha horm
0 welks BOOm =

Schod S O0Dw~ Sktr‘:‘ a-:lf

_'qu‘% c= 533
2

7 .
’&f\ chorbert 16 Z1Tm scharker



gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 28, 2018

S

W Class/Homework =¥

Worksheet: Unit 1 Test Review

’ Complete all questions on the worksheet
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Grade 8


Unit 1 – Square Roots and Pythagorean Theorem Test REVIEW

Show your work for the following

1.
List the factors of 216.   Is the number a perfect square? Explain with numbers of factors.

2.
Find the square root of the following using the given method:


(a) √ 1764 – product of perfect squares



(b) √ 4900 – prime factorization (hint: TREE)
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3.
Find the length of the indicated side in each triangle (SHOW WORK)

(a)                                                                                               (b)
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4.
Find the length of the diagonal, d, in this rectangle.


5.
Simplify.


a)
square 49

=  _____

b)
square root of 36
=  _____


c)
(√35)2   = _____

6.  Estimate the following (make sure to show work)



(a) √ 190


(b) √ 20

8.
Determine whether a triangle with each set of side lengths is a right triangle. 
Justify your answers. (Show work)


8cm, 9 cm, and 11 cm




10.
A trucker has two companies to choose to work at.  


                  Company A follows route 1 and pays $15/km  


                  Company B follows route 2 and pays $19/km 


. 



a) What is the trucker’s pay if he goes with company A?

b) What is the trucker’s pay if he goes with company B?

(Note: this requires 2 steps)


c)
Which is the better option? Explain


Name:________________
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